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SN BSEAYL
M SN0 H2SAEL: 2E2
Hel: H2ESAtgA 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSSSAIE A =HiE &I| IHESA
50,000,000& » 14 50,000
=EYF 2 81,200 78,650 2,550
Jl 80,000
T 1,200
+=H2g Sgael 81,200 78,650 2,550
Il 80,000
= 1,200
=S 81,200 54,150 27,050
Jl 80,000
Ea 1,200
202 04dl 1,200 0 1,200
01 2L AL 1,200 0 1,200
O+=ZgsAcIZRFFA =LA
50,0002 x2& 122 1,200
207 AR 80,000 54,150 25,850
7l 80,000
01 g S| 80,000 54,150 25,850
OIS/ AE 2028 O|HE IS
B 50,000,000& »14! 50,000
Il 50,000
20238 2F sl HHEAZAIE 2LIH
dH1EY 30,000,000 *14! 30,000
Il 30,000
+H2H O 39,068,573 36,982,615 2,085,958
= 4,007,000
= 1,934,000
< 12,772,135
s 20,305,438
A== Ald2te] 26,543,234 23,751,965 2,791,269
= 1,934,000
== 12,088,420
[Ea 12,520,814
SESHUSEINLAIG (XS 2,000,000 800,000 1,200,000
401 Al HIZL S 0HYI 2,000,000 800,000 1,200,000
01 Al&HI 1,992,800 794,240 1,198,560
OSESAMBELIL AL (HE)
1,992,800,000& x14] 1,992,800
03 A2 2 0HYI 7,200 5,760 1,440
O=EsPUESFIHLAIL (HE)
2,000,000, 0002 *0.36% 7,200
=2t/ gt 435,634 433,442 2,192
201 et 3| 412,270 409,850 2,420
01 At22t2l] 240,070 229,470 10,600
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A H2SAE D
HH: 2IBH U A
Chelr S Ald2tel EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
401 AIEBIZ20HbI 1,687,100 1,372,100 315,000
& 100,000
= 1,587,100
01 Al&Hl 1,687,100 1,372,100 315,000
oS+ 2
400,000,000 14 400,000
ottsd+E RA2e| 1,087,100
OltgssE gAaAa=)| Wil
6,000,000 *10JH 2 60,000
OligdE S=EAF 29
10,000,000& * 14! 10,000
Ottt SEAXEI| WAl
6,500,000 *10JH 2~ 65,000
OXIot=Z At & AIZ22E2S
9,000, 0002 *20JH 2~ 180,000
O=83 MYZZEZAt
20,000,000 3 54 & 100,000
Olt24d=+E =S2HEZ N
5,000,000 *40JH 2~ 200,000
Ontgas: 243 ¥4
182,100,000 * 14 182,100
OLAE2 S=AE EEX |X2el &
AXISA 5,000,0002 *38H & 190,000
OgLaas)| 3 & 242EH
100,000,000 14 100,000
OLHA2EAIE HSFAS
100,000, 000 *2JH &~ 200,000
& 100,000
i 100,000
AP AIEINE (X E) 800,000 250,000 550,000
= 560,000
= 240,000
401 AlEHIZ 20| 800,000 250,000 550,000
= 560,000
= 240,000
01 Al&HI 794,960 248,200 546,760
ORI ARDETAEINSAIS (HE
794,960,000 x 14! 794,960
& 560,000
= 234,960
03 Al 2 CHYI 5,040 1,800 3,240
OLHAXI P ARRECAIEINTAS (XS
800,000, 000& *0.63% 5,040
Ngat=E 22| 1,860,000 1,902,000 A42,000
401 Al HILS0HY| 1,860,000 1,827,000 33,000
01 Al&HI 1,860,000 1,827,000 33,000




TN H2SAEA
Hu: 2IPH Y M
el dE Ald2te (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXlgat=E RX2cISAt
400,000,000 » 14 400,000
OZdaE AL ASA A7 EXISA
3,000,000 *109H 2~ 30,000
OBANLE SAEAB
10,000,000 * 14! 10,000
OZAEF Kok ALE22IZ4(10,1151)
15,000,000 *29H 2= 30,000
OBYS WED| ALVE WETL O1A
SM LIS AL 150,000, 0003 * 14! 150,000
OZLE+T 25 2T S22 HESA
800,000,000& *14] 800,000
028 §Ee2(HB) FM4E HETA
300,000,000 * 14 300,000
OBAUTLE AEHLBA
90,000,000 *14! 90,000
O=EH AAAHSEHISA
50,000,000& *14{ 50,000
2T SHELES+ HLAL (HE) 3,045,516 2,780,000 265,516
= 2,587,044
o 458,472
401 A& HIX R0 3,045,516 2,780,000 265,516
= 2,587,044
o 458,472
01 A28l 2,653,452 2,400,992 252,460
OEEX T sHELESTIHE A
2,653,452,000& x14] 2,653,452
S 2,263,109
[Ea 390,343
02 Zeltl 381,100 369,000 12,100
OEA T SHELUESTIHE A
381,100,000 x 14 381,100
= 323,935
Ea 57,165
03 A& THYI 10,964 10,008 956
O SHEUESTIHL A
3,045,516,000& »0.36% 10,964
UK T SOHELES HLAL(HE) 6,388,184 2,780,000 3,608, 184
= 3,899,956
= 2,488,228
401 AlEHIZ R0 6,388,184 2,780,000 3,608,184
= 3,899,956
Ea 2,488,228
01 A28l 5,717,983 2,400,992 3,316,991
OFUMXT sHEUESFIHLAM (HE)
5,717,983,000& x14] 5,717,983
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TN H2SAEA
Hu: 2IPH Y M
2l AT Ald2e] (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,343,861
s 2,374,122
02 Zeltl 654,230 369,000 285,230
OBLRIT SHEMBBINLAIL (M)
654,230,000 * 14 654,230
= 556,095
o 98,135
03 A& S CHYI 15,971 10,008 5,963
OFMXT SOEMERAINLAIR (XS
6,388, 184,0002*0.25% 16,971
Xlgt==2te| 53,800 7,560 46,240
= 15,420
[Ea 38,380
201 er23y| 8,400 0 8,400
S 2,520
o 5,880
01 AtR2tc|HI 8,400 0 8,400
OMAETBRNY SBUGH: +EAAX
168,000 5004 A 8,400
& 2,520
Ea 5,880
202 04| 2,400 2,400
01 =LHA LI 2,400 2,400
OXIot=ER=A 0|
20,0002 x 12 +102x 122 2,400
401 Al HIZ S OHbI 43,000 7,560 35,440
s 12,900
s 30,100
01 Al&HI 43,000 7,560 35,440
OXlots 2XE o=+
8,000,000 + 14 8,000
S 2,400
= 5,600
OXiots Bx2t=2 4X
35,000,000% 14! 35,000
= 10,500
o 24,500
Agtats=C SHSALE 3,224,000 2,005,300 1,218,700
= 1,934,000
= 516,000
o 774,000
402 2I2F X201 & 3,224,000 2,005,300 1,218,700
[ 1,934,000
= 516,000




FA: SI2SAEA
Hu: 2IPH Y M
Chelr S Ald2tel (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
[Ea 774,000
03 SIZt?( &AL I 3,224,000 2,005,300 1,218,700
ONYALE BB
3,224,000,000& 14] 3,224,000
[ 1,934,000
= 516,000
Ea 774,000
Ngat=E HIA32Y FEM(E) 1,000,000 3,200,000 22,200,000
== 500,000
o 500,000
401 AIEHIZ SR 0HYI 1,000,000 3,200,000 22,200,000
< 500,000
T 500,000
01 Al&H| 493,700 3,191,360 2,697,660
ONYALE HIATIY DEMY(RHLH
) 493,700,000& *14] 493,700
= 250,000
Ea 243,700
02 Zeltl 500,000 0 500,000
ONYMLE HINRDY PEA(FELH
) 500,000,000 =14 500,000
[ 250,000
T 250,000
03 Al 2CHYI 6,300 8,640 A2,340
ONYALE HIATIY PEMY(RYLH
) 1,000,000,000& *0.63% 6,300
AT SHELESEs HEAE 700,000 1,560,000 860,000
=S 595,000
= 105,000
401 AIEHIZ SR THYI 700,000 1,560,000 860,000
< 595,000
T 105,000
01 A&l 494,960 1,563,700 A1,068,740
OZBIF sHEMEEFINLAIL(HE)
494,960,000 x14] 494,960
= 425,000
= 69,960
02 Zcltl 200,000 0 200,000
OTEX T sHELSSTIHL AL (HE)
200,000,000 *14] 200,000
== 170,000
o 30,000
03 A& CHYI 5,040 6,300 1,260
OBEXT SOIEMERANLAIL (XS
700,000,000 0. 72% 5,040
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SN HSSAYA
Hu: 2ALH L OHA
2l AT Ald2e] (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
NSASE HASZY 2EASE (HE) 1,924,000 3,657,563 1,733,563
= 1,510,000
z 414,000
401 AI&HIY 20| 1,924,000 3,657,563 1,733,563
= 1,510,000
2 414,000
01 Al&] 1,417,073 3,647,714 12,230,641
ONYASE HABSY PEAL(RENE
) 1,417,073,0002 %1 4! 1,417,073
[ 1,115,000
2 302,073
02 22| 500,000 0 500,000
OXILALE HABSY PEAL (BRSNS
) 500,000,0002 % 14! 500,000
= 395,000
2 105,000
03 Al&=S0HY 6,927 9,849 N2,922
ONYASE HABSY PEAL(RENE
) 1,924,000, 000! *0. 36% 6.927
HRIXT SHEMERS HLAY 400,000 600,000 200,000
= 340,000
z 60,000
401 AI&HIZ 04| 400,000 600,000 200,000
= 340,000
2 60,000
01 Al&] 397,120 600,000 A202,880
OUXINT SHEMSELIHLAI (M8
397, 120,00021% 14! 397,120
= 340,000
2 57,120
03 Al 0HY 2,880 0 2,880
OUXIKT SHEMSEANLA (HE)
400,000,000 +0. 72% 2,880
ARDLEEAIE HEE ASH2 ALY 225,000 0 225,000
= 225,000
401 AIEHIZL 20| 225,000 0 225,000
= 225,000
01 Al&t] 225,000 0 225,000
OARBLETAIE HEZT AFHZ ALY
225,000,002 *14] 225,000
= 225,000
NNLALE AQHE SLRE XA 800,000 0 800,000
= 240,000
2 560,000




TN H2SAEA
M SAOE U A
2l AT Ald2e] (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 800,000 0 800,000
= 240,000
= 560,000
NE=I:] 794,960 0 794,960
Ostdd 2Mcl, &del Ngads= A2
= 3422 HIAY
794,960,000 * 14 794,960
S 240,000
o 554,960
03 Al 20HHI 5,040 0 5,040
Ostd™ FMel, atdel Ngae=E AN
Z Z4RE HANY
800,000, 000& +0.63% 5,040
Stedti==Xl & XA 2,000,000 0 2,000,000
= 1,000,000
= 1,000,000
401 AlEHIZ S 0HbI 2,000,000 0 2,000,000
= 1,000,000
[Ea 1,000,000
01 AlZ2H| 2,000,000 0 2,000,000
O3tdbi+=Xl XA
2,000,000,000& *14] 2,000,000
== 1,000,000
[Ea 1,000,000
ot== Al&2te] 12,525,339 13,211,770 686,431
= 4,007,000
== 683,715
o 7,834,624
ot=E Ze|get 52,804 36,277 16,527
101 e124d| 30,304 28,977 1,327
M ORINZZ2NSE S 30,304 28,977 1,327
Oot=E&HFH IR 30,304
ooy 76,9603 * 12 +2602 20,010
OF=5=+¢ 76,9603 x 1 #5235 4,002
Odxt=< 76,9603 x 110 770
OEE=It| 200,000 1 =23 400
O=gtl 100,000 x1& =123 1,200
@ZIN L==h= Y= 25,182,000 * 12 *12% 3,022
oul=l 150,000% 12 x23 300
Ooddl 50,0002 x1& x 122 600
201 Ler23 | 18,000 4,600 13,400
01 At2t2ltl 15,600 2,400 13,200
Oggt=ZH| 15,600




TN H2SAEA
Hu: IPH Y M
c?l: o=k AlE2t2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtteE2s FUAISFAR ASSSH
500,000 * 122 6,000
Oxteg &xtz 800,000 « 12~ 1CH 9,600
02 S3=gHl 2,400 2,200 200
osE2= & HA 2,400
Odt=E8&3alH| 2,400,000& %12 2,400
202 04l 4,500 2,700 1,800
01 =LHN I 4,500 2,700 1,800
Oodt==HR A 0| 4,500
OZU o] 20,0003 x5 »20 2,000
Ozl 50,0002 x5 10! 2,500
St=ZXaIAlIE 2t 4,175,148 4,268,958 /93,810
201 =3 643,560 368,930 274,630
02 S5=24g4l 643,560 367,530 276,030
0=32= # HAl 490,560
OFutol+=xcld FLHHIES
2,010,000& %14 2,010
OlISSE2eANAY SRS
550,000& * 122 6,600
OEAIIZANEHIRS
40,000,000& « 12 480,000
OJMelgt=HMelAlE HHE 2
6502 +3,0000H*12] 1,950
O ZAIE =2 =X2| =9
153,000,000 * 14! 153,000
307 212+01& 2,750,000 2,094,000 656,000
05 2ItRIE = 2,750,000 2,094,000 656,000
O#AINEAM DI2t9IES
2,750,000,000& x 14 2,750,000
401 AIEHIX SO 781,588 1,736,028 N954,440
01 Al&H| 776,000 1,720,900 A944,900
O8I =(0rSdt=Xe)AIE U=H
500,000,000 *14] 500,000
Oot=XelAlE HI|EHIAXE S
5,000,000 =14 5,000
Odt=XlAE FULLF+ dEHH=SEEL
9 11,000,000& * 14 11,000
OFIIZAIE 2HTA & HOAHEH 25
260,000,000 *14] 260,000
03 Al 20HHI 5,588 15,128 29,540
Oot=HMelAlE FAl2el
776,000,000 %0.72% 5,588
ol=EAE Sl 603,780 873,770 269,990
401 Al HIZ 2018 603,780 873,770 A269,990
01 Al&H| 600,000 869,360 A\269,360
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TN H2SAEA
Hu: IPH Y M
c?l: o=k AlE2t2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBt +CAZFLAIY
200,000,000 » 14 200,000
OBBHECTHIAE BHTA
200,000,000 *14] 200,000
Odt== (22, HWE)ANE RALS+SA
200,000,000& *14] 200,000
03 Al 20HHI 3,780 4,410 2630
Odt= Al RAl2el
600,000,000& *0.63% 3,780
ot=2tZ FHIAHY 500,000 100,000 400,000
401 AlZHIZ S OHYI 500,000 100,000 400,000
01 A28l 500,000 100,000 400,000
OZ gl ot+=2Z HHIAIY
500,000,000& *14] 500,000
I8 HEAS 895,607 344,765 550,842
401 Al HIZL 201 895,607 344,765 550,842
01 Al&H| 890,000 342,300 547,700
QJlsdt 89 560,000,000& x14] 560,000
OJ=aE NS A 330,000,000 *14] 330,000
03 AIESTHYI 5,607 2,465 3,142
OJ=aE HEAY
890,000, 000& *0.63% 5,607
S30t=E 2| HIHAY 849,000 0 849,000
= 594,000
s 255,000
401 Al HIZL 2048 849,000 0 849,000
= 594,000
= 255,000
01 Al&H| 849,000 0 849,000
O330ot=E Tra-22| MIHAL
849,000,000 x 14 849,000
= 594,000
s 255,000
SaXelAlE HEAS 986,000 1,000,000 14,000
= 493,000
= 493,000
401 Al HIZL 201 986,000 1,000,000 14,000
= 493,000
= 493,000
01 Al&H| 980,000 993,700 213,700
O2=XclAlE HEA
980,000,000 * 14 980,000
= 490,000
o 490,000

—_




FA: SI2SAEA
Hu: IPH Y M
=Rl Stk AlE 2l EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
03 Al 20HHI 6,000 6,300 A300
OSLHRIAIL HEA
6,000,000& *14] 6,000
= 3,000
Ea 3,000
HAD Dot CIAIZ(600E) ESE ALY 416,000 1,000,000 584,000
= 208,000
= 104,000
Ea 104,000
401 AlEHIZ S 0HbI 416,000 1,000,000 584,000
= 208,000
= 104,000
= 104,000
01 A&l 413,000 993,700 580,700
OHABZEISHIAIL(B0E) SAAR
413,000,000 x 14 413,000
= 206,500
== 103,250
= 103,250
03 Al = 0HHI 3,000 6,300 A3,300
OHAIBZot=XMIAIE(600E) ESH ALY
3,000,000 %14 3,000
= 1,500
= 750
= 750
AT A2oteXelAlE XA 3,631,000 249,000 3,382,000
= 2,421,000
= 517,715
= 692,285
401 Al HIZ 2018 3,631,000 249,000 3,382,000
= 2,421,000
== 517,715
T 692,285
01 Al&H| 3,623,000 247,207 3,375,793
O X7 ArtL2ot=XelAIEE XA
3,623,000,000& 14! 3,623,000
= 2,415,700
< 516,565
T 690,735
03 A2 THYI 8,000 1,793 6,207
O X7 AL2ot=XelAIEE XA
8,000,000& 14 8,000
= 5,300
& 1,150




TN H2SAEA
Hu: IPH Y M
c?l: o=k AlE2t2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 1,550
YA+ OtSot+=HHIAE 273,000 309,000 36,000
= 191,000
= 41,000
Ea 41,000
401 AIEHIX R0 273,000 309,000 /36,000
= 191,000
= 41,000
= 41,000
01 Al&H| 271,000 306,775 A35,775
OZYXl= Ot=ot+==dHIA
271,000,000 x 14 271,000
= 189,600
= 40,700
= 40,700
03 AIZ 2 THYI 2,000 2,225 N225
OZ X7 Ot=ot+=dHIAL
2,000,000 %14 2,000
= 1,400
= 300
o 300
=817 sHENSH=SFUIAMS 143,000 315,000 172,000
= 100,000
= 21,000
= 22,000
401 AlEHIZ S 0HbI 143,000 315,000 A172,000
= 100,000
< 21,000
s 22,000
01 Al&H| 142,000 312,732 170,732
O=E1X+ sOHEOISot==EHIAIE
142,000,000 *14] 142,000
= 100,000
< 21,000
= 21,000
03 A2 THYI 1,000 2,268 A1,268
O=sE1X+ sOHEOISo=ZEEIAIE
1,000,0002 %14 1,000
WRES(HSSAYL) 600,000 0 600,000
WA XIE 600,000 0 600,000
WA XIE 600,000 0 600,000
701 JIEtRI HSHES 600,000 0 600,000
01 et AN ES 600,000 0 600,000
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2A:

SI2S A A

I WRES(A22AILL)
=l WRAAXE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
odrz=Es a5
600,000,000& 600,000
HH2LIH(HE2SAILL) 200,639 0 200,639
el 109,479 0 109,479
elIg =3l 109,479 0 109,479
101 e124d| 109,479 0 109,479
01 &= 82,426 0 82,426
OAIZRAZ 25 82,426
O6= 12,3213 +3Z #40A[ 2+ 123 17,743
Oora 11, 1303 x5 #40A[ 2+ 123 26,712
O8=z 9,902 x7H*40A 2+ 123 33,574
O9= 9, 1602« 1 *40A| 2+ 123 4,397
02 JIEtME = 27,083 0 27,083
OAIZRAZ 25 27,053
OHAZZ(BAS)
11,2723 x5 #40A 2+ 123 27,053
Jl=23sl 91,160 0 91,160
JI23Hl 91,160 0 91,160
201 2= 64,160 0 64,160
01 At22t2l] 37,760 0 37,760
oget=ZH| 18,000
O A2l 1,500,000& «12& 18,000
(CLa=ES, 6,960
Ol 60,0002 x116 6,960
o=gH| 12,800
ooRZe s sS4l
8,000 16 100! 12,800
2 s5=34l 26,400 0 26,400
0332 € MAl 26,400
(OFSPIETE=; 1,500,000« 128 18,000
Odlot= = 100,000« 12& 1,200
OJIEtEE2= & HAl
200,000 * 122 2,400
OgdsE=E ¥ LAMES RES
400,000 12& 4,800
202 04| 21,120 21,120
01 =LHOHI 21,120 21,120
O32AFA L SHAARFH
80,0003 x22E «12& 21,120
203 HR=H] 5,880 5,880
02 SRt =AY 1,080 1,080
OFRIMAHA =AY 40,0008 27 1,080
MU A2 LRFEI 4,800 0 4,800
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FA H2SAEA
M HAHRAZH|(HSSAGEL)
cel: J|=3|
2 s IE]
SA B SABH) - KIRAY - BLS o ar e
OR KNSRI 400,000& 123 4,800
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